R XFRF D EER OB R (FR295 )

201843 A K
4B |58 | 6B |78 |88 | 9B |10RB[11A[12B| 1B | 2B | 38 |£E&t
1B HEENHE| 1005kWh 0 0 0 0 0 0 0 0 0 0 0 0 0
- SRlER AE % 00/ 00| oof oo 00| 00| oo o0of o0 00 o0 o0 0.0
o FEENE| 1005kWh 0 0 0 0 0 0 0 0 0 0 0 0 0
BAEEES % 00f ool oo/ o0 oo o0/ o0l oo o0/ o0 o0 o0 0.0
e FEEH=| 1005kWh 0 0 0 0 0 0 0 0 0 0 0 0 0
= BAEEES % 00] ool o0o0] o0 o0 o00] o0l o0 o00] o0 oo o0 0.0
451 FEEH=| 1005kWh 0 0 0 0 0 0 0 0 0 0 0 0 0
= BAEEES % 00f ool o0o0] o0 o0 o00] o0l o0 o00] o0 oo o0 0.0
5E FEEBH=| 1005kWh 0 0 0 0 0 0 0 0 0 0 0 0 0
= BAlEEES % 00f ool o0o0] o0 o0 o00] o0l o0 o00] o0 o0 o0 0.0
62 FEEH=| 1005kWh 0 0 0 0 0 0 0 0 0 0 0 0 0
BAEEES % 00] ool o0o0] o0 o0 o00] o0l o0 o00] o0 oo o0 0.0
o= FEEH=| 1005kWh 0 0 0 0 0 0 0 0 0 0 0 0 0
~ SRAEd A E % 00/ 00| ool o0of 00/ 00| oo o0of o0 00 o00] o0 0.0
oz |EEEAE| 1005kWh 0 0 0 0 0 0 0 0 0 0 0 0 0
B EES % oof 00| o0/ o0 o0o0f o0o0f o00f 00/ 00 00/ 00| o00 0.0
E1) ZREFAE(%)=KEEHE / (HH xEREREE) x 100
E2) MERAADBBRTEINELLRWMEELRHYFET,
(100 5kWh) HhE
5,000
4,000
3,000
2,000
1,000
0 | | | | | |
434 5H ©6R 7H 8H 9A 10R 11R 12HA 1A 2R 3H
e ]
100.0
80.0
60.0
40.0
20.0
00 —= L L L L L L L L L i
4K 5H 6 A 7H 8H 9H 10A 11R 12A 1AH 2A 3A




